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DIRECTIONS: (Question No. 1 to 6) Study the following
“mformation and answer the questions.

Seven people namely Ashok, Babloo, Chandu, Deewakar,
Eashwar, Fakir and Guddu have a meeting on seven different
days of the same week namely Monday, Tuesday, Wednesday,
Thursday, Friday, Saturday and Sunday but not necessarily in the
same order. Each person also likes seven different colors namely
Green,- Grey, White, Black, Orange, Pink and Blue but not
necessary in the same order.

Chandu likes grey and has a meeting on Monday. Only one
person has meeting between Chandu and the one who likes
Black. The person in between these two likes green. Only three
people have their meeting between Deewaker and Babloo.
Babloo has a meeting on Saturday. The one who likes orange has
a meeting on Thursday. Eshwar likes black and has his meeting
immediately after Deewaker.

Neither Guddu nor Fakir likes blue. Fakir likes white and

has a meeting on one of the days after Eshwar. Guddu likes
pink colour and has a meeting on Sunday.

1. Which of the following combination is definitely correct:

(A) Saturday — Ashok — Black

(B) Tuesday — Deewaker — Green
(C) Tuesday — Guddu — Pink

(D) Monday — Babloo — Black

2.  Which of the following represents the day on which
Ashok has the meeting:
(A) Monday
(C) Thursday

(B) Wednesday
(D) Saturday

3. Based on the given arrangement which of the
following statements is true?

(A) Ashok has a meeting on Tuesday

(B) Chandu has a meeting on Wednesday
(C) Ashok likes black color

(D) Babloo likes blue color

4.  Which of the following color does Ashok like?

(A) White (B) Blue
(C) Orange (D) Grey
5.  Who amongst the following has a meeting on Tuesday?
(A) Ashok (B) Eshwar
(C) Deewakar (D) Guddu

6. Which of the following group has a combination liking
of color similar to Indian national flag of tricolor?
(A) Ashok, Fakir, Eshwar
(B) Ashok, Babloo, Fakir
(C) Chandu, Guddu, Eahswar
(D) Ashok, Fakir, Deewakar

7. 1f63+25=16, 12+18=12 and 23+17=13, then 54+22 = __

(A) 13 (B) 17
(C) 19 (D) 20

[31]

PART-I / 9T - | (General Intelligence /A=Y gfewI)

e (99 = 1@ 6) Frfofaa gawmel & 98 T Sl &
I &
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Y U BT & U4 SH% Jo% GMAR @ 81 399 0@
F 9% Ig W@ N BT T HAA &, IS AA 81§
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ae

&

ﬂ;ﬁ?j

%
i 1

1. Frefafes & @ Fiv-a1 dgm Pftes 0 @ @ @
(A) 9fER - AMF - P
(B) #TAN - d@m@Y - &4
(C) HEN - Tgg - T
(D) WX - S - Hrell

2. fFrafafaa 7 @ S9-ar R sl s @ e B9 a9
H o B

(A) drEr (B) 3R
(C) gewdfdEr (D) 9@

3. ﬁagqmweﬁ%amwﬁwﬁlﬁﬁﬁﬁaﬁ?—mm
99 &7

(A) 9% B oF HIEEH H 8
(B) T ® do& AR Hl &

(C) HAMF Pl T GH= HI &
(D) a=q e T gH= Far B

4. fy=ifafag & & S-a1 T ANS TH< S 87

(A) e (B) ram
(C) A& (D) U
5. frfafaa & @ fhasl S Fwa &t 87
) a9 (B) 3w@T
(C) drarht (D) Tzg

6. PreRiad F & Rew wgw @ gaw wdia Usia R 62 @
T & wfaffe s 87
(A) M, FHIY, 3947
(B) LM, T, FHIT
(€) =%, Tgg, 39
(D) M, TN, TAEHT
7. 3% 63+25=16, 12+18=12 and 23+17=13, @ 54+22 =

(A) 13 (B) 17
(€) 19 (D) 20
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DIRECTIONS: (Question No. 8 & 9) In the following questions,
each question is followed by two statements labelled | and Il in
which certain data is given. You have to decide whether the data
given in the statements are sufficient to answer the question. Using
the data given, together with our everyday knowledge, choose.

A. If statement | alone is sufficient to answer the question
but statement Il alone is not sufficient to answer the
question.

B. If statement 1l alone is sufficient to answer the
question but statement | alone is not sufficient to
answer the question

C. If both statements | and |l together are sufficient to
answer the question but neither alone is sufficient to
answer the guestion

D. [Ifl and Il are not sufficient to answer the questlon and
more data is required

8. What marks have been obtained by Ramesh?

I.  'Ramesh’s marks are average of marks of Namita and
Anita

II.  Namita obtained 80 marks. and this is 33% more than
the marks obtained by Anita '

(A) A (B) B

(e (D) D

9. A certain bookshop sold, 92 copies of “Geet Gata Chal”
by Atal Bihari Vajpayee during the first day. What
percentage of stock of this book did he sell on that day:

|.  The total number of books with this title on stock is 230.
Il.  There are a total of 1000 books in his store.

(A A (B) B

(C) C (D) D

DIRECTIONS: The following graph gives the marks scored by a
student in different subjects — English, Hindi, Mathematics,
Science and Social Science in an examination. Assuming that
the total marks obtained for the examination are 540, answer the
question given below.

Science

10. The difference of marks between Social Science and
Mathematics as the same as between:

(B) Science and Hindi

(D) None of these

(A) English and Science
(C) Hindi and English

11. If ‘PERFECT is coded as ‘RGUIHFW’ Then ‘BROWN’ in
= that code is written as:

(A) CsQYP
(C) CTRYQ

(B) PSRZQ
(D) DTRZQ

[4]
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fdr: (w91 Hem 8 ud o) Frifefem el #, w9 & g Al
ml@llﬁam%‘f&iﬁﬁ@m%ﬁw%lm g
T & B Femt § R T oofiee geet @ oW 39 & Rl wia R
A AR S F O S0 gC RA g oifmsl | 99 B
A, dR FeE | ode qatd ¥ AR s 1 o o 2 @
o wafe w1t 2 .
B. AR F Il 3K 31 & fu odba yat B AT e |
TS I 3 B o e @ R
C. IR W Fu7 | Wd || 0% 99 W 3 & 9 T &
AT HE 0 IHA IO AT B fory At E B
D. IR aNf o4 | Td Il SuY 39 & o waw e R w
Al aiihel 1 aGHT Bl

8. 9 & fraw ofw arfa B wq?

| YA % 3% A od v & fh H ofed & :
I, Hmmmﬁamaoﬁwasmﬁmmaﬁh
FEH T 33% TURT B

Sozz
wlol b2

9. %ﬁmﬁ#w%mﬁaﬁmmﬁﬁ“wﬁﬂw
" ﬁszm%ﬁﬁqﬁuwﬁmﬁ%mﬁmﬁ
sferer e 99 R S

I 39 % 1 ga o & g wis J 230 2
Il. 39 =X F Fa 1000 Frae g

A A (B) B

€ cC (D) D

frer o Rerl zw e Rwd-oisn, &<, o, Rem o
gt feE # afia of @& ffafas oe 2 safEr @ R
aamaﬁgqﬁsrrﬁwﬁﬁaeﬁamﬁfa%mmo%ﬁr
frr=feriea g9 @1 IX 2

10. T REW ©d @ B Aer wiE ¥ o oa T & 3
R b= 3 g
(A) 3T wg fasm
(C) Bl wd aUsi

(B) foe= wg =it
(D) &% & g &

11. 3} ‘PERFECT’ & ‘RGUIHFW’ FHis fFar oimr 8, o ot
Hg # ‘BROWN’ & 34 ferar T

(A) CSQYP (B) PSRZQ
(C) CTRYQ (D) DTRZQ
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DIFFCTIONS: 120 candidates appeared for examination in
three subjects, name English (E), Maths (M) and Science (S).
The number of candidates who failed in E, M and S as shown in
the diagram given below. '

S
12. The number of candidates who failed in at least one
subject is:
(A) 25 (B) 30
(C) 60 (D) None of these

DIRECTIONS: Given beiow are three positions of the same dice
having names of six institutions inscribed on six faces. The
names of these institutions are, ICA, ICWA, ICSI, ICFAI, IIT,
BHU.

ICWA ICA "~ ICWA

ICSI ICWA
BHU

ICFAI

ICFAI BHU

13.  Which name occurs on the face opposite to that of ICA?

(A) ICSI (B) ICFAI
(C) IT (D) None of these

14.  Find the missing number in figure:

19 27 29
5 3 7 3 6 4
23 17 2 25 34 26
4 6 5 '

(B) 45
(D) None of these

(A) 39
(C) 47

15. Which is next in series?

PODO
(MCD.' (®)

o @ o @
16. Given that.

1. Alis the brother of B 2. Cisthefatherof A
3. Disthe brotherof E 4. E isthe daughter of B

Then the uncle' of ‘D’ is:

(A) E
(0} €

(8) B
(D) A

e 120 Rt &9 fwdl Ree W@ et (E), PR (M) @@
fasm (S) 1 wher § 31 E,M wd S H arave ervaridl w1 e
31 B TR RA T Ymfe # gt T oE

EM
(N
N

S

12. %9 Q B9 o vy F orawa orefidl @ der @

(A) 25
(B) 30
(C) 60

(D) =78 & FiE &

Pty o & T B d Refet Pt B e @ A B omgd

o BY & & m ¥ ICA, ICWA, ICSI, ICFAI, IIT, BHU

[ICWA ICA ICWA

ICSI ICWA ICFAI

ICFAI BHU BHU

13. ICA & &% Rgdd (SR) J& W H-71 TH 8rm?

(A) ICSI

(B) ICFAI

() T

(D) 3 § #g 7

14. ﬁaﬂmamﬁ%%mﬁwmz

19 27
5, 3 7 3
23 17 2 25
2 6
(A) 39

(C) 47
15. ot & HF-A AW _R-M?

PODDO
(A) @ (B)
(Cj @ D)

(B) 45

(D) ¥ & &g &

@
@

16. Rar
1. BH 9B A 2 2. AH WA C B
3. EFIEDR 4 BHRGIE?R
@ ‘D’ W 9@ B 87
(A) E (B) B
(C) C (D) A
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17. Consider the following information regarding the
performance of a class of 1000 students in four
different tests. '

Tests I Il Il I\

Average Marks 60 60 70 80

Range of Marks 30 to 45t0 | 20to Oto
90 75 100 100

If a student scores 74 Marks in each of the four tests,
in which of the following tests is his performance the
best comparatively?
(A) Test—1|

(C) Test—1lI

(B) Test—1I
(D) Test— IV

DIRECTIONS: Select the question mark (?) number from the

G52 Qo
AR ¢

(A)y 21
(C) 19 (D) 28

19. Complete the following series.

9,11, 15,23,39,7

(A) 71
(C) 42

18.

(B) 64
(D) 56

20. In the below figure, circle P represents hardworking
people, circle Q represents intelligent people, circle R
represents truthful people, and circle S represents
honest people. Which region represents the people who
are intelligent, honest and truthful but not hardworking:

(A) 6 (B) 7
(C) 8 o) 11
‘INTERCHANGE’ is written as

21. In certain code
? ‘NITRECAHNEG’.
that code?

(A) OCNDIOTNILA
(C) OCNIDTOINLA

How is ‘CONDITIONAL’ written in

(B) ONCIDTOINLA
(D) OCIDNTOILNA

DIRECTIONS: Choose the most appropriate option in the
following?

22. Detective : Information : : Reporter : ?
(A) Essay (B) Books
(C) News (D) Management -

[6]

17. 1oooﬁmﬁiﬁaﬁm%wﬁﬁauﬁw@f%ﬁﬁ"ﬁ
wEbaq e & TS gEAe B SaasT S

L] [ Il Il Y,
AT ofF 60 60 70 80
37T /T TOH 30to | 45to | 20to | Oto

90 75 100 100

o o Remdt g% ot olenet § 74 oiF o< wwan @, @
frfafaa e ofer & e goors see @49 @ 87

(A) T - | (B) 9lem - I
(C) Tdem - 1l (D) ToRT -

e fad o Reedt # & geraes foe (7) 9@ # 9

(A 21 (B) 23
(C) 19 (D) 28
19. & & gof &
9,11, 15, 23, 39, ?
: (B) 64
(D) 56
20. g P uitspht At @ wfar B, 99 Q

B) 7
(D) 11

21. R @t Ffleg @i & INTERCHANGE' &
‘NITRECAHNEG’ @ &t sis § ‘CONDITIONAL’ & &1
fore?

(A) OCNDIOTNILA (B) ONCIDTOINLA
(C) OCNIDTOINLA (D) OCIDNTOILNA *

forder: Frfefe famedt 7 @ waiftes Sugw R g4-

22, S gE o R ?

\REER:]
(C) THER

(B) s
(D) yag=

RSJUNX1T
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CTIONS: Answer the following question according to the fydor: 23 7o PR & HTE e U

Dlz%
int. Jctions given.

23.

24.

25.

26.

27.

A$B means A is not smaller than B

A#B means A is not greater than B

A@B means A is neither smaller nor equal to B

A*B means A is neither greater than nor smaller than B
A%B means A is neither greater than nor equal to B

STATEMENT:
M@J, JST, TN
CONCLUSION:
I N#J Il T%M .

(A) Only | and Il are true
(B) Only Il is true

(C) Only | and Ill are true
(D) All are true

M@N

In a certain code language,

‘cro te na’ stands for ‘elephants are huge’;

‘mee cro da’ stands for ‘animals are dark’ and ‘mee cro
te dana’ stands for ‘huge animals are lovable’. How is
‘elephants are lovable’ written in this code language?

(B) na mee dana
(D) te da mee

(A) mee dana cro
(C) nadana cro

In this question, which number should be in place of 25.

‘x'? The numbers in the figures follow some rule:

(A) 4 (B) 6
<7 (D) 8

Three views of the same cube are shown below.

The figure on the face opposite the triangle is:

(A) Pentagon

(B) Circle

(C) Question mark
(D) Rectangle

‘C’ is a place which is located 2 km away in the north-
west direction from the capital Z. R is another place
that is located 2 km away in the south-west direction
from ‘C’. ‘M’ is another place and that is located 2 km
away in the north-west direction from ‘R’. ‘T’ is yet
another place that is located 2 km away in the south-
west direction from ‘M’. In which direction is ‘T’
located in relation to ‘2'?

(A) South-West
(C) North

(B) West
(D) None of these

&
ASB T aad ® A, B & Bl 7éf
A#B F1 a9d B A, B & I3 78 &
A@BH A B A AABABTARTAB S I 2
ABH T A AAXBIATTANTAB A Bier 2

A%B H add 2 A, T A B AT AN TA B B =T 3

EEN

M@J, J$T, T*N

forent:

. N#J In.
(A) F9¢ | Td |l §9 &
(B) 34w Il 9 &

(C) e | Td Il g9 &
(D) &+ft 7 &

T%M . M@N

% FiEa e amr ¥,

‘cro te na’ F 94 2 ‘elephants are huge’;

‘mee cro da’ & 94 & ‘animals are dark’ g
‘mee cro te dana’ F A ¥ ‘huge animals are lovable’.
‘elephants are lovable’ HI gq Hie A1 ¥ 39 foran e

(B) na mee dana
‘ (D) te da mee

WAE A X B WA W HA-@ dem o gy fRe & @

(A) mee dana cro
(C) nadana cro

T den 8 P #1 aEer H 8
(A) 4 (B8) 6
€ 7 (D) 8

% & = 3 39 3@ R gwie

B & Roda o awn s a4 @

(A) =g

(B) gd

(C) wear=m farg
(D) SHTIAHT

ot Z & Jae-aiew R & 2 B @ g W @
e Rga &1 ‘R’ @& 380 ®@F, ‘C’ & aRvr-uied R &
2fl AP MW g EE @R A
Suc-aftem R & 2 ff. Q@ W BT @ R e
E, W RSB Rm 2l g wdi z 3,
T frm R & ok R7
(A) ZRor-uiyem

(C) T

(B) ufmm
(D) &7H & #3 &t
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28. Find the missing number in place of question mark?
14 8 12

G 22 0/ 16 2 22

10 14 18 6 12 14 5 ? 15

(A) 10 (B) 8
(C) 12 (D) 14

29. Five friends are sitting in a row. ‘T’ is on the right of
‘Z'. ‘N’ is on the left of ‘Z’ but is on the right of ‘L’. ‘T’ is
on the left of ‘K’. Who is sitting first from the left?
(AT B L
©€) K (D) N

30. Ramesh is twice as old as Shyam but twice younger
than Rajesh, Brijesh is half the age of Shyam but twice
the age of Nagesh. Which two persons form the pair of
oldest and youngest?

(A) Ramesh and Brijesh
(B) Rajesh and Shyam
(C) Rajesh and Nagesh
(D) Ramesh and Nagesh

31. Which one of the given responses would be a
meaningful order of the following words?
Doctor, Headache, Medicine, Medical Shop.

(A) Headache, Doctor, Medical Shop, Medicine
(B) Doctor, Headache, Medical Shop, Medicine
(C) Headache, Doctor, Medicine, Medical Shop
(D) Headache, Medicine, Doctor, Medical Shop

DIRECTIONS: In the following number series only one number
is wrong. Find out the wrong number.

32. 1, 4, 27, 256, 3125, 46658

(A) 4
(B) 46658
(C) 27
(D) 3125

33. Given two positions of the dice as being.

When 4 is at the top which number is at the bottom:

(A) 5 (B 2
(C) 1 (D) 3

34. The total number of triangles in the figure below are:

(A) 8
(C) 12

(B) 10 -
(D) 14

[8]

-ZS.W%%WWWWW? &

A A Ak

(A) 10 (B) 8
(C) 12 (D) 14

29, AR e A B & ‘T, ZB el I N, 2 B
waﬂw%ﬁﬁ;'u%mfaﬁ'{% T, K & T SR R
ST ¥ voH ©E W B J97 87
Ay T (B) L
(C) K _ (D) N

30. 9, @M A AT TS 3 AT WO & A Slen fEw
@M B W H A B AT ARG H G H G FA-H
a aafwal 1 Siel, G99 991 Ud |99 B # 87
(A) ™ wd o
) TS TE AW
(C) TSigr Td AR
(D) Y T§ AN

31. ﬁaﬁr@aﬁm%aﬁgﬁmﬁawﬁmﬁﬁﬂ?—w
Bim?
Sy, AR &%, @@, a1 &t §FH
(A Red, S, TR & gFE, TR
(B) e, e, @R F @M, @R
(C) R, Sreet T, Zars 1 3
(D) foeed, Taw, e, TR H ghA
frder: Frefofed den e § o @@ TEd B TEd gern @t
T &
32. 1, 4, 27, 256, 3125, 46658
(A) 4
(B) 46658
(C) 27
(D) 3125

33. qiF i & RafEr =@ v § © &

99 4 9 qv 8nn & SE-d " a9 9 e

(A) 5 (B) 2
(€)1 (D) 3

34, 92 RA M R T Brgsit @ & g ga e R @

(A) 8
(C) 12

(B) 10
(D) 14

RSJUNX17
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[ o e g w9 et @ e
% fod g @2 e W o 9y
FH AIAIHT B T4 IH QT ARG 09

- [@S=CTIONS: The pie chart, given here, represents the number
ot valid votes obtained by four students who contested election
. for school leadership. The total number of valid votes polled was
720. Observe the chart and answer the question based on it.

35. By how many votes did the winner defeat his nearest 35. fooir 3 oo Frebeaw sfvad @ R Al @ e
rival? (A) 35 (B) 45
(A) 35 (B) 45 (C) 40 (D) 50 : (C) 40 (D) 50

36. Consider the following figure and answer the item 36. Fr=Ifciiaa RE &1 orawiie B Td U H I 31
given below:

T & IO W fE T & ford g e falder o &

What is the minimum number of different colours HEAT I AETHAT & qMih & T gL & & 1 T & 1 2
required to paint the figure given above such that no (A) 4 (B) 7
two adjacent regions have same colours. ©) 3 D) 8
(A) 4 | 7 ©) 3 (D) 8
37. Find the missing number in place of question mark (?) 37. 3 T RExdl & & ysares & (?) & ©WF W Rga e
from given alternatives: : B
7] 3] = 7] 3] 3]
[8]2]6] [9]51]4] [5[sa7]4] [8]2]6]| [9f51]4] [5]a7]4]
5 5 9 i) ’ 5 9
(A) 87 (B) 83 (A) 87 (B) 83
(C) 55 (D) 60 (C) 55 (D) 60

DIRECTIONS: In the following question, Select the choice of faw: Frfafad ued & wew = & Tf &1 & Rl o q=
letters which completes the first word and begins the second. The & g% &1 & ol Tl &Rl & YA HX R S Ted I &
letters in the bracket end the first word and begin the second. ‘g‘ﬁ CIES ?ﬁ g= H = FHUI TE Prod o AN HroH 7 aAE

Number of dots in bracket indicate number of letters required. T et @ HE oy & HEd SR o
38. APR(..)ION: 38. APR(..)ION:
(A) IL (B) ON (A) IL (B) ON
€I ‘ (D) CO €) IT (D) CO
39. Pick the odd one out. 39. Frfafea & @ o & g
(A) Hear B) Smell (A) T | (B) T
(C) Taste (D) Talk : (C) WX T (D) STET HE

DIRECTIONS: Select the suitable alternative to satisfy the relationship in the following question.
FrEa: Frifad w97 § o7 @l & g% 0 a9 98 e @ g

40. Question figure (J¥7 ) Answer figure (S¥% aTR)
% . |° O l..]° o A A AlO oo oA

o’ "e’ ][ '® N
B = 2, Q ©c___©° A Alo O |O o A

(A) (B) ©) (D)
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41.

42,

43.

44

45,

46.

47.

48.

49,

PART-II / 1T - Il (General Awareness /9F = &)

Chengalikodan is a variety of: 41.

(A) Banana (B) Apple
(C) Pokkali Rice (D) Mango

Ten Degree Channel is situated between: ‘ 42.

(A) North and South Andaman

(B) Middle and South Andaman

(C) Little Andaman and Nicobar Islands
(D) India and Sri Lanka

Article 243 B(1) of the constitution provides for 43.

constitution of Panchayat in every state. The level of
Panchayats referred under this is:

(A) Village and District level

(B) Village, intermediate and District Level
(C) Village level only

(D) District level only

Match the following (Item-| to ltem-II): 44.
ITEM-| ITEM-II

A. Siachin Glacier 1. Sikkim

B. Rohtang Pass 2. Karakoram Range

C. Nathula 3. .Pakistan

D. Khyber Pass 4. Himachal Pradesh

(A) A4,B2, C3,D1
(C) A3, B2, C4,D1

(B) A4,B2,C1,D3
(D) A2,B4,C1,D3

Find the mismatch: 45.

(A) Gagan Narang — Shooting

- (B) Achanta Sharath Kamal — Table Tennis

(C) PV Sindhu — Badminton
(D) Sakshi Malik — Weight Lifting

As per Indus Water treaty, control over which three 46.

rivers were given to Pakistan:

(A) Ravi, Jhelum and Sutlej
(B) Ravi, Beas and Sutlej
(C) Indus, Jhelum & Chenab
(D) Indus, Jhelum & Sutlej

PAVA shells stands for? ' 47.

(A) Pelargonic Acid Vanillyl Amide
(B) Pellet Attack Vamide Amide
(C) Parrallel attack Via Amide

(D) Priority Acid Via Amide

The earth rotates on its axis from: 48.

(A) Westto East
(C) South to North

(B) Eastto West
(D) North to South

Which country has initiated “One Belt and One Road 49.

initiative”:
(A) Nepal
(B) India
(C) China
(D) Japan

[10]

| geh e gl o ¥

‘\\.
AeioEbe o TF ol &: 8
(A) e (B) W
(C) el IEw (D) o™

3 Rt v e e R 7

(A) IR ST gfrer arveHe

(B) W=g oY afRrT erveHH

(C) Bier FvegqF N e g
(D) 9T S fi-iehr

Hige & 8T 243 B(1) 99% U9 ¥ & Y990 & oA
H WEEE HAT 81 59 YW A dEEd @ &} o el
feam T ®: :

(A) T wd e wR)

(B) i, weradf o fo wR

(C) Fad Ta |

(D) Faq forem &Y

frfofaa & gafea & (781 & 7&-11):

- -1

A, Tgoem @it 1. fafem

B. &div U 2. B F
C. g 3. k&I

D. G©EEY U9 4. TRHEE-wRy
(A) A4, B2, C3,D1 (B) A4, B2, C1,D3
(C) A3, B2, C4, D1 (D) A2, B4, C1, D3
I gAfe A s F

(A) T TR - g

(B) STl Y FHA - ¢ o
(€) dr.d. Ry - s=fires

(D) arfl Afws - ARwET

Rrg @ @R 3 ogaR B 89 9Rd | afeae St
IERELEEUIIDIE

(A) T, FdH Td Heest

(B) El, M T Hasl

(C) Ty, g T =

(D) fry, oo™ wd Haws

PAVA @vq & arqd 27

(A) Pelargonic Acid Vanillyl Amide
(B) Pellet Attack Vamide Amide
(C) Parrallel attack Via Amide

(D) Priority Acid Via Amide

(A) = & (B) T & ufem
(C) &fyor § IR (D) T9T § &R

R 39 3 “oF 3w @ @ U5 PR (OBOR)” # wew
& e
(A) TR "
(B) AT

(C) &=

(D) S
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4= Match List-I with List-Il

51.

52.

53.

54.

List—I (Dance forms) List-ll (State)

A. Kathkali 1. Tamilnadu

B. Kuchipudi 2. Kerala

C. Bharat Natyam 3. Andhra Pradesh
4. QOdisha
5. Karnataka

(B) A-5, B-3, C-2
(D) A-5, B-4, C-2

(A) A-2,B-4, C-1
(C) A-2,B-3, C-1

Match the following items | & I1. 51.

ltem—I Item-ll

A. Bankrate 1 RBi lends money to _
commercial bank for their
short term needs.

B. Reporate 2. To be maintained by
commercial bank with RBI

C. . Statutory liquidity ratio 3. To be maintained by
commercial bank with
themselves

D. Cash Reserve Ratio 4. RBIllends money to
commercial banks for
their long term needs

(A) A4, B3, C1,D2 (B) A1,B3,C2, D4

(C) A1,B2,C3,D4 (D) A4,B1,C3, D2 -

Match List-I (Sea) with List-ll (Country) and select the 52.

correct answer using codes given below the lists.

List-I (Sea) List—ll (Country)
- A. Black Sea 1. Bulgaria

B. Red Sea 2. China

C. Yellow Sea 3. FEritrea

D. Caspian Sea 4. Kazakhstan
(A) A1,B4,C2, D3

(B) A2,B3,C1,D4

(C) A1,B3,C2,D4

(D) A2, B4,C1,D3

The resolution for removing the vice president of India 53.

can be moved in the:

(A) Lok Sabha alone

(B) Either house of parliament
(C) Joint Sitting of parliament
(D) Rajya Sabha alone

Which profession represents highest percentage of 54.
. members in the sixteenth Lok Sabha?

(A) Advocate

(B) Agriculturists
(C) Social Worker
(D) Business Person

[11]

50.

-1 @ gl @ gaf

eI ?(;% w@Ey) g1l ()

A. & 1. afeg

B. FH=Igel 2. &W

C. HREHEEH 3. S-SR
4. oz
5. FAeH

(A) A-2,B-4, C-1
(C) A-2,B-3,C-1

-l ¥ el B gafE w1

(B) A-5,B-3,C-2
(D) A-5, B-4, C-2

LG | il

A & 1. RBI g8 afifsas Sar
T ST SATRHAT
% o’ Ja7 QuR A B

B. W & 2. 9y @ g fod ¥
4 @ S d

C. e TRl oTgUd 3. Al S AR o
@ S 3

D. e e TR 4. RBI g& affees S H

REE o7 e ks )
% o’ 90 Sum B

(A) A4,B3,C1,D2 (B) A1,B3,C2, D4
(C) A1,B2,C3,D4 (D) A4, B1,C3, D2

- () B -1 (3) @ T w0 o A R T B

I FANT A FY FE IA A

- (FR) - (39)

A. =% & 1. germiEn
B. &=« 2. 99

C. I & 3. ofeRm

D. ®fgm @ 4, FomEE

(A) A1, B4, C2, D3
(B) A2, B3,C1,D4
(C) A1, B3, C2, D4
(D) A2, B4, C1,D3

ARG % IY-TAT B! BN & WA Hel arr o Tbal o
(A) Fad Alp-ger §

(B) ©8g & bt o weq H

(C) WEe & wywh Jo% A

(D) Faw Tog-a4ar §

diaed! ae-aar § 59 19 3 ool & §e8 ST AR S
(A) TEEEe

(B) P9
(C) THmTEdE
(D) =EErE
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55. Match the following (List-| and List-ll):

56.

57.

58.

59.

60.

61.

62.

List- (Year) List-Il (Nobel Prize in Literature Awardee)
A. 2016 1.  Patrick Modiano '
B. 2015 2. Alice Munro

C. 2014 3. Bob Dylan

D. 2013 4. Svetiana Alexievich

(A) A3, B2,C4,D1 (B) A3, B4, C1,D2

(C) A3,B1,C2,D4 (D) A3,B2,C1, D4

Vice President of India who served for two consecutive
terms:

(A) K.R. Narayanan

(B) Zakir Hussain

(C) V.V. Giri

(D) Dr. Sarvapalli Radha Krishnan

The Wallace’s line refers to:

(A) A faunal boundary line between Asia & Australia

(B) A biogeographic boundary between landscape
patches in the Amazon

(C) A mountain range that represents different species on
either side of Himalayas

(D) An altitude zonation between two vegetation communities

The branch of biology that deals with the study of

fungi is called:

(B) Phycology
(D) Microbiology

(A) Algology
(C) Mycology

A solar eclipse occurs when:

(A) The Moon comes between the Earth and Sun

(B) The Sun, Moon and Earth are in triangular formation
(C) The Earth shadow falls on the moon

(D) All of these

India’s Devendra Jhajharia won gold medal in the
men’s ...... event held at the 2016 Rio Paralympics —

(A) Shot put—F53

(B) Wrestling

(C) High Jump T-42

(D) Javelin Throw — F46

A cyclist while turning around a curved road leans
inwards. By doing so which force he is providing
himself which enables to take a turn:

(A) Centrifugal Force
(B) Centripetal force
(C) Angular Velocity
(D) None of these

On the basis of area which one of the following is
correct descending order?

(A) Asia, North America, Africa, South America
(B) Africa, Asia, North America, South America
(C) Asia, Africa, North America, South America
(D) Asia, Africa, South America, North America

55.

57.

59.

60.

61.

62.
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(D) Safer #-F46

TF TR §aR O gHERR #5% T g50 g oK
Bl W W AW & oA F @
-|T S @ @ 8
(A) STTHE T
(B) =1 &
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(D) 79 | HiF 7
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Match the United Nations Agency with its headquarter

. and find the incorrect match?

64.
65.
_‘
‘ 66.

67.

68.

69.

—

71.

70.

(A) UNESCO- Paris, France
(B) UNIDO- Vienna, Austria
(C) ILO- Geneva, Switzerland
(D) FAO- Montreal, Canada

In which of the following groups of hemispheres is
India located?

(A) Northern & Eastern Hemisphere
(B) Eastern & western Hemisphere
(C) Southern & Northern Hemisphere
(D) Eastern & Southern Hemisphere

S.D.R with reference to IMF stands for:

(A) Special Dollor Rights
(B) Special Drawing Rights
(C) Single Drawing Rights
(D) Sunk Drawing Rights

A writ, which is in the nature of command issued by
the court asking a public authority to perform a public
duty which it is bound to perform or to refrain from
performing a particular act which it should not
perform, is called:

(A) Certiorari
(C) Mandamus

(B) Habeas corpus
(D) Quo warranto

Electoral disputes arising out of Presidential and Vice-
Presidential elections are settled by:

(A) Central Election Tribunal

(B) Joint Committee of Parliament
(C) Election Commission of India
(D) Supreme Court of India

1 dioptre of power of a lens:

(A) Whose focal length is 10 meters
(B) Whose focal length is 100 meters
(C) Whose focal length is 1 meter
(D) Whose focal length is 0.01 meter

LIBOR, a term used in banking and financial sector:

(A) Local Indian Bank Offered rate

(B) London Inter bank Offered rate

(C) London India bureau of Regulations
(D) Liberal International Bank Official Ratio

National remote sensing center (NRSC) is located in:

(A) Delhi (B) Hyderabad
(C) Gwalior (D) Bengaluru

Which of the following is a credit rating agency:
(A) BSE
(B) ICRA
(C) NSE
(D) SEBI

63.

64.

65.

66.

67.

68.

69.

70.

71.

AT o O A R e ¥ ghfed BT o e
A9 B qEEN 7

(A) UNESCO - Aftd, wi

(B) UNIDO - faz, aifgzan
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(D) FAO - HFgRFe, et

ed 3 fre wgEE § wRa e @
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(B) gdf wd ufterdt sfemd

(C) it wd I Mered

(D) wdf wd afereft Memd

IMF 3 ded ¥ S.D.R & ared &:
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(C) THe AT HAHHER
(D) o SHTEXT AT
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(A) &= gTd fegaa
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(A) Wi T ¥ offee T

(B) T oY ¥% alfwd e

(C) & Ffemr = Al V[

(D) AR g S offftefige R

Jeee dite AfvdT @=T (NRSC) el feaa #:

(A) el (B) R
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(A) BSE
(B) ICRA
(C) NSE
(D) SEBI
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72

73.

74,

75.

76.

i

78.

79.

80.

Which one of the following is the correct chronological

order?

(A) Khilji Dynasty — Tughlag Dynasty — Sayyid Dynasty —
Lodhi Dynasty

(B) Lodhi Dynasty — Sayyid Dynasty — Khilji Dynasty —
Tughlag Dynasty

(C) Khilji Dynasty — Sayyid Dynasty — Lodhi Dynasty —
Tughlag Dynasty

(D) Lodhi Dynasty — Tughlag Dynasty — Khilji Dynasty —
Sayyid Dynasty

Which is the nodal department under the aegis of
union ministry of communications and information
technology that deals with cyber security threats like
hacking and Phishing in India?

(A) National Cyber Coordination Centre
(B) Grid Security Expert System of India
(C) NETRA of India

(D) CERT-IN

In case of reflection it is well known that when a h':irror
turned through an angle the reflected ray turns
through:

(B) Twice the angle

(D) Half the angle

(A) Same angle
(C) Thrice the angle

“Swachh Indhan, Behtar Jeevan” is the tagline for
which scheme of union government:

(A) Pradhan Mantri Awas Yojana
(B) Pradhan Mantri Ujjwala Yojana
(C) The Ujala Scheme

(D) Swachh Bharat Abhiyan

Which of the following is wrongly matched:

(A) Hirakud - Mahanadi

(B) Pochampad - Godavari
(C) Nagarjun Sagar - Cauvery
(D) Bhakra Nagal — Sutlej

FIFA World Cup 2018 will be organised in which of the
following countries?
(A) Russia

(C) Brazil

(B) Germany
(D) France

Which is generally known as United Nations Refugee
Agency?

(A) UNODC
(C) UNHCR

(B) UNHSP
(D) UNFIP

Select the smallest (computer) memory size?

(A) Terabyte (B) Gigabyte

(C) Kilobyte (D) Megabyte

Which one of the following four Vedas is divided in
Taittiriya and Vajasaneyi:
(A) Rig ved

(C) Atharva ved

(B) Yajurved
(D) Sama ved

72.

73.

74.

75.

76.

79.
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PART-III / 97T - Il (English Language /${3sf 1)

DIRECTIONS: (Question No. 81 to 85) Read the following passage carefully. The questions following it are based on its contents.
Select the best answer to each question based on the contents of the passage.

We must build a world of peace and we cannot do so unless we secure for it a truly moral foundation. We may hold different
metaphysical views, adopt different modes of worship and there are millions today who do not desire to place their faith in any God
at all. But every one of us will feel highly offended if he is pronounced destitute of any moral sense, if he is said to be untruthful or
unloving. All religions and systems of morality are agreed that respect for life, respect for intangible possessions, good name and
honour, constitute morality and justice. ‘Do not do to others what you would not like to be done to you'. Even primitive sages accept
this principle. Only for them its appreciation is limited to their own tribe and race and those outside are not regarded as human
beings. As our horizon expands, as our moral sense deepens, we feel that these moral precepts are valid for all human beings.
Today the world is like a ship with no captain heading for the rocks. It is swept by passion and folly. We do not know whether it is
passing through birth pangs or death throes. If we adopt the path of greed, hatred and self-interest, we will become something less
than human. If we take the other path of fortitude, un-selfish service and sacrifice we will reach height of splendour in body, mind
and spirit of which we can hardly dream. Non-religion is our malady and religion as an adventure of spirit and as a tool radical
transformation of human nature is the cure for it.

81. To build a world of peace it is essential to:
(A) Respect all religions
) ; (B) Cultivate moral values in human beings

(C) Serve society
(D) Have faith in God

82. In-spite of diversity of views, there is a general agreement on what constitutes .............
(A) Decency and goodness
(B) Grace and gentlemanliness
(C) Morality and justice
(D) Kindness and compassion

83. The principle, “Do not do to others what you would not like to be done to you”, means:

(A) Treat others the same way you want them to treat you
(B) Treat all with kindness and compassion

(C) If you want a thing done well, do it yourself

(D) To be just and fair to others

84. To which flaw of ancient sages does the writer refer?

(A) They are prejudiced against everyone

(B) They are culturally backward

(C) They are extremely conservative

(D) They do not regard non tribals as human beings

85. Our moral sense deepens when we:

(A) View society in a broader perspective

(B) Develop an understanding of morality

(C) Practise religion

(D) Pursue our goal with single-minded devotion

DIRECTIONS: A sentence has been given with a blank space. Pick the suitable choice to fill the blank according to good usage of
the English language.

86. His mother ........... last year:
(A) Pass off (B) Passed for
(C) Passed away (D) Passed on

DIRECTIONS: A phrase or idea is described in each question followed by four single word choices. Select the choice which best
explains the idea/phrase. ’

87. A child of unusual or remarkable talent:

(A) Diligent (B) Prodigy
(C) Brilliant (D) Freak
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DIRECTIONS: In each of the following sentences a word or phrase is underlined and given a number. Pick a choice of number

where the error lies. f\"*.’"‘- .
88 If my teacher will advise | will join the part time course
' 1 2 ’ 3 4
(A 1 (B) 2 ) 3 (D) 4

DIRECTIONS:; The following sentence a portion has been underlined. There are four choices of phrasing the portion including the
original. Select the best usage version from (A), (B), (C) and (D).

89. If Ram would have worked hard, he would have been selected for the job:

(A) Had Ram worked harder
(B) If Ram had worked hard
(C) Had Ram worked hardly
(D) If Ram would have worked hard

90. Change the sentence into indirect speech.
Ram said to the boy, “why will you not play with me?”
(A) Ram said the boy why he will not play with me?
(B) Ram asked the boy why he would not play with him.

(C) Ram told the boy to play with him.
(D) Ram asked the boy why will hot play with me.

91. Correct the following sentence.
The teacher said that honesty was the best policy.
(A) The teacher told that Honesty was the best policy
(B) The teacher said about the honesty.

(C) The teacher said that honesty is the best policy.
(D) The teacher advised the honesty as the best policy. l

92. Combine the following sentence by using an Adverb Clause. : |
He is poor. He is honest.
(A) He is poor and honest. (B) He is both poor and honest.
(C) Although he is poor, he is honest. (D) He is poor as well as honest.
93. Fill in the blanks with the correct form of verbs given in bracket. ;
We ___ (wait) for the train for nearly two hours, but it (not arrive) yet so | don't think we (be able to) attend
the meeting on time. :
(A) have been waiting, hasn't arrived, will be able to
(B) waited, did not arrive, will
(C) have waited, hasn't arrived, will be able to
(D) are waiting, isn’t arrived, would be able to

94. Fill in the blanks with the correct form of verbs/tenses given in bracket.

When the old woman (hear) that her grandson (arrest) for robbery, she (get) a big shock.
(A) heard, had been arrested, got (B) heard, was arrested, gets
(C) hears, is arrested, got (D) will hear, is arrested, gets

95. The question consists of a sentence with four underlined parts, one of which is incorrect as per standard use of
English language. Identify the incorrect part.

Scarcely we had  reached the office / when it startedlraining cats and dogs

(A) (B) (C) (D)

96. Given below are four substitutions for the underlined part. Choose the correct alternative to make the sentence
grammatically correct.

Make haste lest you should not be caught in the storm:

(A) You should be (B) You could be
(C) You might be (D) Otherwise you can be
[‘15 1 RSJUNX17




DIRECTIONS: In the following each passage consists of six sentences. The first (S1) and the sixth (S6) sentence are given in the
- inning. The middle four sentences in each have been removed and jumbled up. These are labeled P, Q, R and S. You are
required to find out the proper sequence of the four sentences and mark accordingly in the OMR sheet.

97.

S1. Large part of Karnataka are located in the drought prone rain shadow of the Western Ghats characterized by low and
unreliable rainfall. :

S6. Once water is made available for irrigation, the economic picture of the area would be transformed.-

P. The project occupies a triangular area lying between Krishna and Bheema rivers.

Q. The upper Krishna project is being executed in the drought prone north eastern part of Karnataka about 456 kilometers
from Bangalore in the district of Gulburga, Raichur, Bagalkot and Bijapur.

R. The area though being subjected to vagaries of the monsoons has high fertile land.

S. The population in this area subsists mainly on agriculture.

The proper sequence should be: !
(A) RSQP (B) PQSR (C) QPRS (D) PSQR

' DIRECTIONS: In the following each passage consists of six sentences. The first (S1) and the sixth (S6) sentence are given in the
beginning. The middle four sentences in each have been removed and jumbled up. These are labeled P, Q, R and S. You are
required to find out the proper sequence of the four sentences and mark accordingly in the OMR sheet.

98.

S1. In democratic countries men are equal before law, and have a voice in deciding how and by whom they shall be governed.

S6. And they live like this not for fun, but because they are too poor to afford another room.

P. While some few people live in luxury, many have not even enough to drink and wear.

Q.. But with respect to sharing of money- which means the sharing of the food and clothing, and houses and books and so on
the system is still very unfair.

R. There are many families of five or six persons who live in a single: they sleep and dress and wash and eat their meals; in
this same room they are born; and in this same they die.

S. Even in the finest of World's cities thousands of people live in dreadful surroundings.

The proper sequence should be:
(A) QRSP (B) SRPQ (C) QPSR (D) PQRS

DIRECTIONS: In the following each passage consists of six sentences. The first (S1) and the sixth (S6) sentence are given in the
beginning. The middle four sentences in each have been removed and jumbled up. These are labeled P, Q, R and S. You are
required to find out the proper sequence of the four sentences and mark accordingly in the OMR sheet.

99. .
S1. Einstein was very simple in his ways of life and indifferent to his astounding fame
S6. So they went back to the Queen and informed her that he had not come by the train.
They could never imagine that this shabby man would be Einstein himself.
Once the gueen of Belgium invited him to Brussels.
The officials also expected to see somebody who would appear to be rich and aristocratic before them.
When he got down from the train at Brussels, he could not think that there were actually many gorgeously dressed
officials to receive him at the station.
The proper sequence should be:

(A)y PRSQ (B) RQPS (C) QSRP (D) SPRQ

nOOT

DIRECTIONS: In the following question, an idiomatic expression/a proverb has been given followed by some alternative. Choose
the one which best expresses the meaning of the given idiom or proverb.

100. A bull in a china shop:

(A) A person who becomes too excited where no excitement is warranted
(B) A person who is rough and clumsy where skill and care are required
(C) A person who is very ugly but loves the beautiful things of life

(D) A person who takes a sadistic delight in harming innocent people

101. Find out the correctly spelt word.

(A) Controvercial (B) Contraversial
(C) Controversial (D) Contriversial
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102.

103.

104.

105.

106.

107.

108.

109.

There is a certain relation between two words on one side of sign ::. Choose the suitable option that has the closest
similar relation from the following alternatives. Skl

Sculptor : Chisel ::

(A} Pathology : Disease (B) Time : Seconds
(C) Tailor : Needle (D) Engineer : Site
There is a certain relation between two words on one side of sign ::. Choose the suitable option that has the closest

similar relation from the following alternatives.

Soap : Cleanse ::

(A) Confession : Purity (B) Medicine : Disinfectant

(C) Towel : Absorbent (D) Cream : Smooth

Complete the sentence using the word or set of words for blank that best fits the meaning of the sentence as a whole.
Iwishl.......... a king. _

(A) Was : (B) Were

(C) Am (D) Should be

Identify the incorrect sentence among the alternatives.

(A) He has been in bed since 6 a.m.

(B) The movement had gained popularity during 1984.

(C) The Prince got on his horse and went towards the palace.
(D) He worked in the morning till evening.

Choose the correct word to fill up the following sentence.
The officials have a habit of fawning ......... ministers.

(A) Above (B) At

(C) With (D) On

Choose the option that reports the following sentence in indirect speech.
He said to her, “Are you coming to the party?”

(A) He asked her whether she was coming to the party.

(B) He asked her if she will be coming to the party.
(C)- He asked her if she was coming to the party.
(D) He told her if she was coming to the party.

tdentify the incorrect sentence among the alternatives.

(A) | wish he was my son.

(B) He is a man of great courage.

(C) Nobody can stop me from winning the gold medal.
(D) What have you done to your moustaches?

Identify the incorrect sentence among the alternatives.

(A) What is the time by your watch?

(B) He will get a license at the age of eighteen.
(C) After tea we went for a walk.

(D) ltis five minutes to be 10 o'clock.

DIRECTIONS: This guestion consists of a capitalized word followed by four alternatives. Select the alternative that is opposite in
meaning to the capitalized word.

110.

Hyperbole:
(A) Understatement (B) Undue
(C) Lessen (D) Climax

DIRECTIONS: This question consists of a capitalized word followed by four alternatives. Select the alternative that is opposite in
meaning to the capitalized word.

111.

Fragrance
(A) Perfume (B) Stink (C) Smell (D) Aroma
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DIRECTIONS: In the following question, identify the correct reported speech from the given alternatives.

“142. He said to his wife “How many people were coming to dinner tonight.”
(A) He asked his wife how many people were coming to dinner tonight
(B) He asked his wife how many people were coming to dinner that night
(C) He called his wife how many people were coming to dinner that night
(D) He narrated his wife how many people are coming to dinner that night

113. Find out the sentence in Passive Voice

(A) The judge convicted the culprit for his offence

(B) The culprit apologised to the judge for his offence
(C) The judge scolded the culprit for his offence '
(D) The culprit was punished for his offence by the judge

DIRECTIONS: Mark, out of the four given choices, the correct meaning of the bold idioms phrases—

114. Dip one’s pen in gall-
(A) Seek support from others by one’s writings
(B) Take decisive action to put an end to an undesirable situation
(C) Write spitefully
(D) Stay calm despite provocations

DIRECTIONS: Mark, out of the four given choices, the correct meaning of the bold idioms phrases—

115. A Judas Kiss—

(A) Affirmation of friendship despite differences

(B) Neutralized propaganda

(C) Adaydream

(D) Act of betrayal especially one disguised as a gesture of friendship

DIRECTIONS: Choose the correct preposition, out of four options, to be filled in the blank of the following sentence.

116. He should not be covetous ........ others riches.
(A) omr (B) off
(C) of : ' (D) for

DIRECTIONS: Choose the correct preposition, out of four options, to be filled in the blank of the following sentence.

117. Satish’'s errors may be ascribed ..... his carelessness.
(A) at (B) with
(C) for (D) to
DIRECTIONS: Against key word is given four suggested meanings. Choose the word or phrase which is opposite in meaning to the
key word.
118. Judicious
(A) Ambitious ‘ (B) Confident
(C) Sober . (D) Imprudent

DIRECTIONS; Fill in the blank with correct preposition.

119. | have been living ......... Panipat ......... twenty years.
(A) In, since (B) at, for
(C) in, for (D) at, from

DIRECTION: In the following question, fill in the gap with correct preposition.

120. The property was divided the twins.
(A) Among
(B) Between
(C) In
(D) Into
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PART-IV / 91T - IV (Hindi Language /&= =)
frdar: Frefafed e & o Suge 9 & =93 Rl § & aifm

121. = -
(A) ZTIE F arT ARe
©) b 3 frfEm § o= 99w

(B) Frgs wa=~ HTAT Hfed 3l
(D) & & 3B T

frder: Frefafea we7 & e & i ar R Ru o 31 o @ o ot Rees @& =97 #ifvm

122. B | RFe SareT -
(A) 8 & ool &
(C) B & Fe@ GHA

(B) ST AT ITHN HE
(D) ST AT FHel JarAT

frder: 9 R o oo & i o= $ a) gele o e o e e gh

123. forfr -
(A) Sl g8 (B) ST @ g=&
(C) &M i g1 (D) T H F=B

e Frafofe ama & R ser @ agfe 2

124. 5% TAgAF H 39 TN H HHT A &

(A) frar w=dl aigfs (B) - fador el arggfs
(C) ga M Tl aigfs (D) i T argrfes

125. Frefifed 3 g | & @& 0 & Ak B
o (v=) g 11 (el and)
A el 1. ™ H =E
B. =M 2 a‘{ﬁw@iﬁqmé’r
C. gt 3. ot b ==l & A
D. e 4. U g g

(A) A4, B3, C2, D1
(C) A3,B4,C1,D2

(B) A2,B1,C3, D4

(D) A4,B3,C1,D2

126. T | (a) & g NI (W%mwmﬁ)ﬁgﬁﬁaﬁn

o (aw) T i (=)
A FE T ST 6B 1. R
B. Fr® I} ¥ Fig I 7 & 2. fame
Cc. Fma= & & ot & 3. R
D. & Rfs W H1§ a5 W0 Y 4. o

(A) A3, B2, C1, D4
(C) A4, B1, C2, D3

(B) A4,B2,C1,D3
(D) A2, B1,C3,D4

Py Frafefad o 3 RiQ SugeR @ @ e Rt § @ iR

127. foeitasT
(A) maﬁwmﬁwa‘r
(C) &R & F=|Y A BT

(B) SN & Y& g2
(D)Gﬁmﬁﬂﬂﬁﬁﬂﬁﬂa‘{wiﬁ{

ﬁ%mﬁwﬁr@am%mmwwwwwm.

128. a9RY
(A) S 99 F arg & &

. (B) T R o & forg T @

(C) ot =5 dmr 7 & (D). = Hoft s 7 @
129.%@3%{1@ Fang '
(A)g%@aﬁqgaﬁ e & M cmga%
(B) WX WA Tgad 'e?frns“rengﬁefn
(C)gmﬁémqgﬁ Tﬂ:ﬁaﬂga?reﬁt
(D)ﬁ‘n%wﬁm‘ruga?r & M o e o
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Sty P o & i gEh A e M R @ ot R T S

(A) 99
(C) oS

forter: Pl o= @ fadm Sag-

131, a9
(A) 9
(C) 3=

® g
(D) Ry

(B) fast
(D) 9

Rifer: <13 Ru o g § Yaith o= 3 9] g ol R w o e e g

132. 39U -

(A) STE & T
(B) WeF TH UgAR HI AF

(C) W&t T FH ST JW T & '

(D) 3 & Fg T

133. g | BE-E 99T B
(A T
€y =

B) &
(D) &3

Rt 4 e s A A R A o @ 9w ¥ gE agE 0 @ Rfed 50

134.
(A) Tt (B) M
(C) g (D) FHI
ﬁm%ﬁ%mﬁﬁww%mﬁmwwﬁﬁqwﬁwﬁﬁﬁmm
135. §qT -
(A) Mg (B) fawmadt
(C) T (D) T
Prker: Prerafag v & Raed § @ @d 9= & 999 H)
136. TO7 g1 JEERT ... ?-
(A) (B) o=
(C) ore I (D) sREr
137. SRR & g fa=de s
(A) TR (B) HIT+FT
(C) B+ (D) HU+HART
138, TS (G 1) B o e (G 1) @ gARE B
gl | (Te) @"(%W)
A Wi 1. ey et
B. oTgATOeET 2. Mg T TR
C. HEE 3. [y fHe R
D. U= 4. TEIHL TEE

(A) A1,B2,C3,D4
(C) A3,B2,C4,D1 -

Rt i s § R e & R 9 R Re 0 g & o of R B e H

139. B N TS:

A 7@
(C) &

(B) A2,B3,C1,D4
(D) A2, B3, C4, D1

(B) WEHl
(D) T & Hig T
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e e vd% o § Ry el § @ oo 9= @ T S

140.
(A) 9 (B) wId
(C) @ife - (D) ofar
Prder: frafefaa we § geat & 0 =R fagey R @ 8 57 @ Sfa e a1 =239 #ift
141. T RER 890 '
(A fet e (B) w13 &
(C) & B (D) awr F &
142, Q-9 BT
(A) T% F I S99 (B) & aMT g B
(C) &t | U & AT wE Y A (D) a5 afosrd 2
P Frfafed g § Re 1 o= & g afa & 9eR & 999 oas e Ru T Reed d s
143, Tfas
(A) s =iy (B) & dfy
(C) ghs Hfy (D) o1 wfy
Prtar: Preffad o= @ e oad 9 Ru o Reed § @ ovgw @@ T
144, TOTE~ ‘
(A) FHaE (B) &
(C) agsy (D) &&
fdsr: Rl e & Ru o 9= 3 AR 9 aiy Re w8 S A @mn @ 38 gie-
145. FHEIATI
(A) Pl T & s
(B) 9 FwAT 4 W &

(C) Forae oTdiia Heawm & w4 2
(D) e a1 I RErt &1

146. R T 7 B0 & 09w D &4 ¥ 9 @ien B

(A) 14 THa=T 1948 (B) 14 o= 1949
(C) 14 Ry 1950 (D) 14 fHerat 1951
147, ‘G TN qe-THIW qEat g 81 - Uk § 9gF SEHR H A T
(A) TF FEHT (B) Y B
(C) 7% SHAHR ‘ (D) I FEHR
148. 3@ @ gHa T & 7@, @t ¥ e mE F o1 W@ - O F sgEa e & Ru T et @ 93 H
(A) SrfrerRT (B) 5%
(€) w¥ (D) &%

Prtar: Premfofe Arfedl @ ot R o Reedl 3 & = &

149. ¥ di7 wERT SN @i @R
(A) TN B ATER FA FHTA AR
(B) Uig 59 &% 7 4% a9 a% 9¥ B¢ Aned
(C) et & atftp @ & ARy

(D) = & B &

150. = 7% @t ¥ Ry Rewd § 4 qgwT 9= B 99T B
(A) ST (B) &
(C) = (D) =
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151. Preffe Resedt § o Sfes adfel & & & @8 o T o= @ T A

T (A) ITEE
(B) 3ggd
(C) T
(D) ST
152. Pq- el (G 1) @ o dwsl (T 1) @ gAkE B4
g | (TEm) T 1 ()
A, HITRH 1. BREY W s
B. i ¥ Y@ 3
C. &9 & I 3. UHEE
D. Ay 4. TERd @bt
(A) At,B3,C2, D4 (B) A2, B3, C1, D4
(C) A4, B1,C2, D3 (D) A3, B4, C2, D1
153, ‘@ 9= § - g &
(A) efFmErE (B) wTEEE
(C) Sfcarass (D) GHEdrEH

154. Prafefan Reedt ¥ 9r o Re T ¥, ags am saw
(A) SRl BR & B gY@ s 2
(B) AYT R & F WA HW F 2
(C) @ e & orwr @ T A
(D) oo foard @ I=9 IA1g @ =Ry
155, ‘s’ o= ¥ 4@ o= 991 99 3
(A) JTEH+ITHS (B) ST-+3TaHS
(C) q+uFhs (D) ET+EFhg
Py Prefafan o & 9 R o Rieeedt & & Suget qol-Redw @ @ w0
156. TS '
A A+ G+ T+ A+ L+ A+ F+H
B) A+ +H+FJ+M+ T+ A +F+ A
C)A+F+A+F+AM+T+F+ 9
D) A++ T+ AN +T+HA+F + A

157. ‘e WS 9= F 9UgE AR 8-

(A) T (B) e

(C) e (D) smeAicHes
P P 9o § R o o=t @ oftr wf fese g
- 158. wfa®

(A) TF+fH (B) M+3H

(C) TE+3% (D) fa+&
ﬁ%ﬁ:%ﬁ&ﬁ@mw%ﬁrmaﬁﬁﬁwﬁf@awﬁﬁﬁqmmﬁ%ﬁmﬁmﬁwmw%@rwwaﬁm
& & wEm @ G-

159. FTH :

(A) | (B) =g
O (D) B
160. ‘SuRrEr fHEt @ 87

(A) TEIHT TEE (B) weRdr ant

(C) gder= Bt (D) Het s
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Answer Keys of 21.06.2017 Examination

QNo.| Ans | QNo.| Ans | QNo.| Ans [ Q.No.| Ans
1 B 41 A 81 B 121 B
2 C 42 C 82 c 122 B
3 . D 43 B 83 A 123 A
4 C 44 D 84 D 124 A
5 C 45 D 85 B 125 (&
6 D 46 G 86 C 126 C
7 A 47 A 87 B 127 B
8 C 48 A 88 B 128 B
9 A 49 C 89 B 129 B
10 B 50 G 90 B 130 D
11 D 51 D 91 &2 131 B
12 ® 52 C 92 (% 132 B
13 B 53 D 93 A 133 A
14 B 54 B 94 A 134 A
15 D 55 B 95 A 135 A
16 D 56 D 96 A 136 B
17 B 57 A 97 A 137 B
18 B 58 G 98 G 138 D
19 A 59 A 99 G 139 A
20 A 60 D 100 B 140 C
21 C 61 B 101 & 141 &
22 G 62 C 102 & 142 D
23 D 63 D 103 B 143 A
24 C 64 A 104 B 144 @
29 D 65 B 105 D 145 B
26 C 66 C 106 D 146 B
27 B 67 D 107 C 147 D
28 B 68 C 108 A 148 A
29 B 69 B 109 D 149 A
30 C 70 B 110 A 150 A
31 A 71 B 111 B 151 B
32 B 72 A 112 B 152 D
33 B 73 D 113 D 153 D
34 C 74 B 114 O 154 A
35 C 75 B 115 D 155 B
36 G 76 8 116 C 156 D
37 B 77 A 117 D 157 B
38 B 78 & 118 D 158 B
39 D 79 C 119 & 159 D
40 A 80 B 120 B 160 B
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Translation
FAATEM < QY o quifer : 100
Time: 2 Hours Full Marks : 100

order - gafy wear feard &1 39% v ARy 3w gyreue @Afése &)

Instruction: All questions are compulsory. Marks allocated are indicated in
right hand margin.

1.  Translate the following passage in Hindi: 25

Union Budget: Fiscally Pragmatic

The budget is a major component of the fiscal policy. The objective of any
macroeconomic policy is steady growth, which can be achieved through
implementation of fiscal policy and monetary policy. The aim of fiscal policy is
enhancing employment and ensuring sustainable growth while the monetary policy,
through controlling inflation aims to create a conducive
environment for the economy to flourish. Given the objectives of promoting growth
and employment, fiscal policy uses various instruments to ensure good education and
skill formation, healthy workforce through efficient public health institutions, robust
infrastructure to facilitate commerce, and security of assets through dedicated security
forces, administration and judiciary. To finance this essential expenditure for meeting
its basic responsibilities, the government has to raise resources through direct and
indirect taxes, collect dividend and profits from public sector enterprises, and as a final
resort, undertake long and short term borrowing, from domestic and external sources.
The raising and spending of financial resources by the Government have implications
for work, consumption, savings, leisure and investment in the domain of fiscal policy.

2. Pt sraavor &1 3 F 3eaE Hfvw 25

fadw facer
g ufgd [ oRdear & Faror & v @w ar usg & R afRed ar
wfteRY @, FurReufy §@9 7 A1 Uow A ugdd TRl 9T A 3edided &
HUSNT Bl




o

WWWW*WWWW,WW—@*W
ﬁ@ﬁ%%ﬁﬁwwwﬁfﬂwwmﬁwvﬁgﬁaﬂﬁ#
SGEAT T T 9T HEM 3R Tegafa frdl T & 0 Wger & gt o a7 oy
gﬁwﬁmﬁugﬁ%awﬁ%%vmwwﬁﬁmﬁﬁl
Wﬁmmm%ﬁﬁﬁmwwm,mmﬁﬁmﬁa@
AR &1 WA TSI & el dccdl B 3feafda @ weww w9 @% 3 sadr
9Pd 7 FEaaT U e Rgrarh F 3R snedi seEdr F Rt ara # s
I3 F gET w9, AT IR 9cl 1 eHET T gT HR ST eI v arsehy
81 T 35S Use-HsR F AT AT Gepa ¥ 3R wor: 3w st @ e agor
A gV 3THT Gy gAlRaa wY

3. Provide the meaning of the following parliamentary expressions in Hindi:

10
1) Covenant
ii) Terms of reference
i)  Treasury Benches
iv)  Divisions
V) Guillotine
vi)  To name a member
vii)  To cross the floor
viii)  To catch the chair’s eye
ix)  To clear the galleries
X) To raise a point of order
4.  Write the Hindi equivalent of each of the following: 5X1
)] Vis Major
ii) Rule Pleading
iii) Retrieved
1v) Chaotic irregularity
V) In conformity with
5. fwfaf@a gt & Riv sRT /=D g AR 5X1

i HAOFR TFueeT AMHS
i) S TRET Irar iR e




i)y S ggel T AT AL v
iv) Sl "SIEC & ®RUT AU Hded #T 729 o aW TF
v) 39T 3R 9@ A ysa arelr %q

f=faf@a & e _fge . 5X1
i) HATHSA

i) 37eer

iy 9rREeT

iv)  3UHT

v)  daE

7. AR fAfE e g vdd g @ YRy wEel FRoT w1 add 4 e
I ag W AT Iezrar 378 qd w0 F @ & 5X1
) 9H AT JdR ST Al W Tolar 2l
i) AT Y G wAT i aram|
iiiy S Hia9m gg @aen|
v) A §E @ ol gl
v) ATl ST & el & A @ o)

8. W & FRASA-ATFT H A H @A Reifha Agraer arat s
& 3rarg HIfST 10
FIS & o] F Il Seof & IOl § FIfk AT Iool B ar e ud 7 g
fewrs &ar, fheq #16 & Joo #T ar wel o @ET @S usar) e wHe ¥
o g ATAG a1 8, We a2 I8 § & 30 ol 3 3ol a1 @
& 61 glaT| a¥qa: @ #16 & Iool UF & @Y A oo g &) " F R W
A ©F HaAN W6 &l FASERT I Ui fF 16 & ool @ g o w@nd|

9. Differentiate between following words by giving meanings and examples in English:

2X5
1) Sensible: Sensitive
i) Piety Pity
1) Official: Officious

iv Bona fide : Bona fides
V) Canon : Cannon



